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ECONOMICS
PAPER - 1II

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All questions
are compulsory.

1.  Consider the following statements :
I. According to Keynes, as income rises, lower proportion of income is spent on
consumption.

II.  According Kuznets, as incomes rise, the average propensity to save remains fairly stable
and constant.

Of the above which statement(s) are correct.
(1) Both I and II are true (2) Neither I nor II are correct
(3)  Only Lis true (4) Only Il is true

2.  If Marginal Propensity to Consume (MPC) is equal to Average Propensity to Consume (APC)
for all levels of income (Y), the correct corresponding consumption (C) function will be :

(1) C=a+bY (2) C=a+$ (3) C=bY (4) C=bY?2
3. Transfer payments by the government are not included in the net domestic product
because :

(1) These are gifts from the government to the recipients
(2) They are not counted as commodities

3 No corresponding production of goods and services has taken place to match such
P gp g p
payments

(4) There may be leakages in such payments

4.  Phillips curve sets up a relation between :
(1) Taxes and inflation

(2) Inflation and unemployment
(3) Money supply and aggregate demand
(4) Price and cost of production
5. If economy is operating at potential GDP, an increase in money supply will lead to :
(1) Stagflation (2) Structural inflation
(3) Demand-pull inflation (4) Cost-push inflation
6. In the long sum, the transitory consumption will :
(1) Be infinity
(2) Remain unchanged
(3)  Decline but will remain positive
(4) Be zero
oans [NV AN :
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1.

freifRd el TR foemr &Y :

I. 9 % TER, 3T 9¢ % 91, 3T w1 3Teq UM U R = fohan Sman 2
1.  FoH & AU, 3T 98 & °19, 5=d S 3i9d ggia feer 3R gad s Wt € 2
SR H § HH-9 FIT Tt © 2

(1) 13RI w ¥ 2) TR TH I T T

(3) fak1weE gl (4) ok R

Afg 31 (Y) % Feft TR R ST FT FHHid gegra (MPC) IUHA & 36 Tgfd (APC) & STeR &1
eI degsEt SUHT (C) e B

(1) C=a+bY (2) C=a+$ (3) C=by (4) C=bY?

THR GRI S0 1, Faet =e 3care | vt Tei foan sman =i -

(1) 3 e 1 TR gRI YEd STER B ¢

(2) &Gl % ®9 H STR! UM &I hl Sl

(3) S YIAMI I IE A ok T FEge AR A H1 HIE qogae AT ol gl §
(4) K YaE R0 gaa

forferg = fre=ifora § 9 former geg dey wonfyd a1 @ ¢
(1) & AR gEEwifa
(2) HETERI SR ISR

(3) TR SR AT et Hi
(4) 3T H A 3R ARG

g sreferaee Fe o el . T =erd 8 Wi ¢ @ q=1 Tfd | dgradl o1 IiRomd grm
(1) TR TR (2) HEAHS HaT THIA

(3) TS Hgl Thifd (4) AFTAS HgE1 ThIfd

et srafy 9, sreemdt 39
(1) aerm

(2) eafafda gmm

(3) Y fIREe BNt AT 9 YR ST &
(4) AT
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7.  According to Keynes, investment demand depends on which of the following two factors ?
(a) Rate of interest (b) Income of the consumer
(c) Marginal efficiency of capital (d) Marginal propensity to consume
Answer from the codes below :
1) @and(d () (Gand(d)  (3) @and(© 4 () and (d)
8.  For the demand function D=P(p) and supply function S=S(p), the excess demand brings
about market equilibrium in which of the following situations ?
m T& o g TR g dED_, oy TP
dp dp dp dp
9.  Consider the following statements.
(a) Profit maximization by a producer.
(b) Cournots” duopoly equilibrium.
Which of these are appropriate examples of Nash equilibrium ? Answer from the code
below :
(1) Only (a) (2) Only (b)
(3) Both (a) and (b) (4) Neither (a) nor (b)
10. In which of the following market situations/forms, firms are able to maximise profits ?
(1) Price leadership (2) Cartel
(3) At the kink point (4) Monopolistic competition
11. Consider the following factors in determination of wage :
(a) Demand for and supply of labour
(b) MRP of labour =Marginal wage
() MRP of labour = Average productivity of labour
(d) MRP=Average wage
Which of the above are true ? Answer from the code below :
(1) @and(®) () (@Qand(d) () @and()  (4) (a)and (d)
12. In the context of a straight line demand curve touching both the axes, which one of the
following is correct ? The demand is elastic :
(1) below the mid-point (2) above the mid-point
(3) at the mid-point of the curve (4) throughout the length of the demand curve
oans [NV AN ‘
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¥ % TFER e A freifra § | fofA S ekl o AR et §2

(a) =N I (b) UM &l 3T
(c) TSIt =t HHid FI (d) 3w & Hwid ygia
freifena el § 4 ST

1) () R (d) (2) (b) AR (d) 3) () &R (o) (4)  (c) ¥R (d)

A T D =P(p) 3R 3Mfd werd S=5(p) % faw win snfyraa fr=1 § § fore <on # 9wk dqe
gffyaa o 82

FreAiferd sheml W forem wifs -

(a) T IACH GNI 1Y HEAHIRIOT

(b) T H GANTRR T

TTH § M 9 W 1 ST I § 7 A U U el H 9 wEl WA ¢

(1) fa% ) (2) fa (b)

(B)  (a) 3R (b) T (4) A (a) IR (b)

freifend ® 9 fohe aeiR feafaal/waedl # ®F o797 a1 1 HeHishiol & U § 2
(1) 73 T (2) A (Cartel)

(@) fag=m fag (4) UenTHHRETE! gfdeasi

Twgh & Frefoor § Freifed sRET W AR 5
(a) W I A AR Y

(b) 9| I TH.AR . =Hiwid gl

(c) oW H TH.ART. = 91 &1 A19d Icagahal

(d) THART. =3fHd Fsigd

STiE B W FH w87 A e T e # A s T

(1) (a) 3R (b) (2) () ¥R (d) (3) (a) ¥ (o) (4) (a) ¥R (d)

ST 37a71 1 T Y TS Uk HrHfl @ Al Wi o5 o Ga | (EIifohd § 9 S 9 § 2 /i AreEeR
gl
(1) Te7 fog o = (2) T fdg & IW

Tk o 7 foig W (4) EYUl HIT = AT e W

p.aus H||HIHII\HHH\II\|||M||\|HH|||||H|!|H||||\|\|H|\ ;



13. Slutsky equation deals with decomposition of :
(1) price effect into substitution and income effects
(2) goods into superior and inferior goods
(3) goods into necessities and luxuries
(4) consumer and producer surplus
14. A discriminating monopolist will charge a higher price in the market in which the price
elasticity of :
(1) demand is greater (2) supply is smaller
(3) supply is greater (4) demand is smaller
15. Inclusive growth objective was given for the first time in which Plan of India ?
(1) 9t Five Year Plan (2) 10t Five Year Plan
(3) 11th Five Year Plan (4) 12t Five Year Plan
16. Match List - I with List - IT and select the correct answer from the codes given below :
List - I List - II
(a) Backward and Forward linkages (i)  Von Neumann model
(b) Turnpike theorem (i) Unbalanced growth
(c) Organic composition of capital (iii) Marxian model
(d) A.K. Production Function (iv) Endogenous growth model
Codes :
(@ (b) (o) (d)
O O @ @) @
@ (W) @) @ 0
@) G @ @) @)
@) () @) @) 0
17. Which among the following variables/factors are used in Constructing Human Development
Index of India ?
(a) Life expectancy at birth
(b) Real GDP per capita
(c)  Morbidity
Select the correct answer from the codes given below :
(1)  All the three above (2) Both (a) and (b)
(3) Both (b) and (c) (4) Both (a) and (c)
oans [NV AN :




13. TR GHIE #1 Gay 1 § § forgs s1aees @ defua €
(1) eI 9919 I gfaeemad ok 12 gl
(2) aERH I Iapw iR frwe aeged
(3) aEgeTl wI sTEvFH@sti IR faenfaa §
(4) uviET SR ScueA AfuR
14. & faders TSR 9eR # 39 qed AR s e
(1) T &1 oI @ AT et (2) MYfd =t qoI &= w9 BN
(3) MYfd & Jou &= SATeT Bl (4) T R oI AE FHH S
15. FEEET T &1 d8d U IR IR &1 fhd e | fean T g ?
(1) & 9= Tt A (2) THel 9= gt A
(3) TANEH! 9 g Al (4) gl 99 i A
16. eIt - 11 ot - I1 § gafera o o) = fou 70 el 9 9§ W&t S &1 =997
el - 1 et - 11
(a) TS SR STATH @t () @F =gHA Aed
(b) <AUEE THA (i) srEqfaa fow
(c) ISt =l Sifass H= (iii) HTRE 9T Aied
(d) T IARA Hed (iv) eiasiia Hgfg Aled
%<
(@ (b) (o) (d)
@ @ @) 3§D ()
(2) @) (@Gv) @) ()
G) G) (@@ @) ()
4) @) (@v) (@) ()
17. 9RA % WA fosmd g & Ted § f1 § 9 for afafi@l /#net @1 sum feen s @ 2
(a) T % THI S g
(b) =TEfereR Yfd SAfR Hehed ®e] 3caig (GDP)
(c) TTREdal
(1) ST (2) (a) (D)
(3) (b) 3R (o) 4) (a) 3R (0)
oo ||| [ HIHHUINAII 7 Papec




18. Which of the following is credited with introduction of LPG model of economic development
in India ?
(1) Dr. C. Rangarajan (2) Dr. Montek Singh Ahluwalia
(3) Dr. Amartya Sen (4) Dr. Manmohan Singh
19. Which one of the following models explains the paradox pertaining to rural-urban migration
in the context of rising urban employment ?
(1) Solow model (2) Lewis model
(3) Vakil and Brahmanand model  (4) Todaro model
20. In Harrod model of growth, if warranted rate of growth is below the natural rate of growth
then it is possible to maintain steady state growth with :
(1) Continuously increasing unemployment
(2) A constant rate of unemployment
(3) Continuously decreasing unemployment
(4) None of the above
21. Report of Task Force on the Implementation of Fiscal Responsibility and Budget Management
Act, headed by Kelkar Committee suggests some points given below :
I.  Fiscal deficit to be abolished by 2008 - 09.
II.  Revenue deficit should be 3 percent of GDP.
Which of the above statements given above is/are correct ?
(1) OnlyI (2) Only II (3) BothIandII  (4) Neither I nor II
22. Tobin tax is a tax on :
(1) transactions in the share market
(2) transactions in the money market
(3) transactions in the commodity market
(4) transactions in the foreign exchange market
23. Budget incidence refers to :
(1) The effect of both government expenditure and tax policies on the distribution of income.
(2) The effect of government expenditure on the allocation of resources.
(3) The effect of tax policies on the distribution of income and wealth in the private sector.
(4) None of the above
oans [ [ HIHIATVAIE 8
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23.
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IR ¥ onfs Hafg & ta. f.sh. uiea & yod &1 99 f=1 § | 9 fean siran ©°2
(1) = . TrsH (2) <. Hicer o sgeataan
(3) I md WA (4) =i 9HEd 9T

Sed! el USTIR o gRYed § TH0-Iedt T & Fefed fadenar &1 11 9 SiF-91 aiea =
HIAT B ?

(1) dre Aied (2) wifow Afed
(3) THIa R FaEHS "red (4) < Hlea

dofg & ¥ie diea # afe Fifsd F9fs X T9fg #t THfar R AT S @ f=1 § 9 fFg 7R @
feer erareen Wgfg 1 TRHIR TWT 51 HHhell © :

(1) Hdd sedl gg SRISHRT (2) SUST @ R R
(3) HAd wedl g SRISFR (4) W A 9 B Tl

TR STRETa 3R ie Yeiv AffTam & frareas & fau ot gfufq =i erevera § nifed
w1 5 1 R & go Freifera gema feg mu g

I. TSR EMET 2008 - 09 T e fohan S |

II. TS =T SiE . o1 3 wfaer & =nfew |

SR | HH-91 HI T € ?

1) fak1 ) fak1 (3) IRIIEH (4) TARISRALI

Afe w2 =1 A 9 forg O o 9 ST R T
(1) VR AR F G (2) T 9NN & 9]
(3) WMt AER F TR (4) fooeh ge1 R % R

TSI G T ST ¥

(1) o & famu | Wl =7 AR F Afqdl &1 g9mE

(2) HEEA  AE W R &I F GHTE

(3) TSt &3 =1 o IR Hufd & foaor | & Fifa=i 1 gama
) SR H ¥ HE T
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24.

25.

26.

27.

In case of deficit budget, when the deficits are covered through taxes, that budget is called :
(1) unbalanced budget (2) surplus budget
(3) balanced budget (4) None of these

Match the following :

List -1 List - II
(a) Fiscal deficit (i) Revenue and interest receipt minus revenue expenditure
(b) Revenue deficit (i) Revenue receipts and recovery of loans and other receipt

minus total expenditure plus total borrowings

(c) Budgets of deficit (iii) Receipts minus disbursement in capital account
(d) Capital deficit (iv) Total receipts and total disbursements
Codes :
@@ (b) (9 (d)
@ @ @§) (@)
(2) @) @@ Gv) (i)
() @) @) @) @
@) @(v) @) @ ()

Efficiency requires that the production of pure public goods be undertaken to the point
where ?

(1) the sum of the marginal private benefits is exactly equal to the marginal social cost of
production.

(2) the marginal private benefit is exactly equal to the marginal social cost of production.
(3) the marginal social cost exceeds the sum of the marginal private benefits.

(4) None of the above.

Which of the following pairs is not correctly matched :

(1) Rekhi Committee : Simplification of export and import procedures
(2) Nanmjundappa Committee : Railway fare

(3) Rangrajan Committee : Balance of payments

(4) Goiporia Committee : Banking service improvements

oo [ HINTEI 1
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27.

IS & oS o] Fegfa | Ja =121 61 R HU G FH I €, T8 TS HedAd © ¢
(1) rEfed ase (2) SARIY T
(3) Wgfea s (4) SR H § ®IE Tl

freifRa =1 gafed i :

qeft - 1 Tl - 11
(a) ST =T (i) ST T H TR TSEE AR AT i
(b) TSTES 1T (i) T =TT AR FoA SUMRAT 1 FT B TTed Wi 3 Foll ki
YAl o T i
(c) T I oS (iti) STt o § Hfaawor 1 w1 w yifaa
(d) el =T (iv) T Wiaar 3R Foa digawo
%<
@@ () (o) (d)
1 @ G @) )
2 G @ (@v) (i)
(3) (i) () (v) ()
(4) (v) (@) @ ()

271 8 ST TEdt § o qulaen wreisie e w1 Scured U fag W 81 Wi
(1) Hwia TSt oMY 1 IR SIGH bl HIHid |IHTSIeh AN 6 G941 @l

(2) HHid it oY, 3ceA St HiHid 9IS AT o JHE 8
(3) Hiwid M @R, Hmid s @9 & 90 9 eifaes @
(4) W H 9 B Tl

frefafaa # @ sF-w 9 gafad & €

(1) @t gfEfd : frafa iR s ufsensti @1 et
(2) TrgTEmEEE YA e

@) TR EEf@ ;A 9

(4) "Edfenwfafa o SfET dar guER
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28.

29.

30.

31.

32.

33.

34.

Consider the following statements :
I.  The Repo rate is the rate at which other banks borrow from the Reserve Bank of India.

II. A value of 1 for Gini Coefficient in a country implies that there is perfectly equality in
income distribution.

Which among the above are correct ?

(1) IIonly (2) Tonly (3) BothIandII  (4) Neither I nor II

Retail Banking is to provide banking services :

(1) only to individual customers in an integrated manner
(2) entirely to agriculture sector only
(3)  only to self-help group for their survival
(4) None of the above

Labour market reforms aim at :

(1) Job security (2) Minimum wage

(3) Labour market flexibility (4) Employment insurance

Jan - Dhan Yojna Concerns :
(1) Credit (2) Tax payment
(3) Bank deposit (4) Insurance premium

Which of the following sets does not represent the features of Indian labour market ?
(1) disguised unemployment ; lack of skills ; lack of mobility.

(2) disguised unemployment ; perfect mobility ; lack of skills.

(3) disguised unemployment ; migratory labour ; perfect mobility.
(4)

poverty ; illiteracy ; Homogeneity

The Geometric mean of four numbers 2, X, 16, 32 is 8. What is the value of X ?

1 2 Q) 4 3B) 6 4) 8

If mean=28 and mode =25, the value of median will be :

29 3) 24 (4) 25

1) 27 (2)
oo [ HINTEI 5
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31.

32.

33.

34.

Tr=fafad wuHl T foer & :

I TR 9 [T W 9% IrdE fied 9% 9 SuR o )

1. ot g § fif7 qoniss & faw 1 % g %1 ffemed o7 © fof o foaor & qoiden a9 B
ST H ¥ HI-|1 w2

(1) wad I 2) HEd I (3) IR IITH (4) ARIARTE

YU S Frefafed o € feres! dfe giagm gean wd 8 2
(1) HHfRd 1 H Had Tohal SUNKIS! !

(2) ol H & HF

(3) had W-HEEdl GG Sl STR! Saksitadl & T

(4) ST HF HE T

9 TSR YR T AT §

(1) TSI T G&n (2) A TRAHS
(3) 9| SISR 1 AHTATIH (4) USRSt

S o Ao TEfafed § 9 frad defud § :

1 = (2) T YA
(3) o S (4) o fifrem

frefafed § @ FiF-91 9q=F IRAE 99 IR 51 fowvarett w1 T8l <9 € 2

(1)  T==l SUSTIR], hIel 1 STHTE, TIqeierd i HH]

(2) T SRS, qUf Tfaiierd], ShIvTel i ST
(3) Yo SAUSIIY, Jardt g, qoi Tfaeiierar
(4) T, FReRdl, THEda

IR FEARA 2, X, 16, 32 1 SAMEAT WAL T X 1 oI FM1 & ?
1 2 2) 4 G) 6 4) 8

Ff HIEA =28 qAT Fgeteh = 25, Tl AR 1 qoF BT
1) 27 2) 29 () 24 (4) 25

)
oans [T 1



1
35. If the probability of solving a statistical problem by A is i and by B is 3 when a problem is
given to them, probability that the problem will be solved is ?
1 1 2 Z 3 L 4 2
(1) 2 3 G 1 @ 3
36. Type - I error is defined as :
(1) Reject Null-hypothesis when it is false.
(2) Reject Null-hypothesis when it is true.
(3)  Accept Null-hypothesis when it is true.
(4)  Accept Null-hypothesis when it is false.
37. Given that \[xy = 0.6, 0y=50, 0x=10, X =30 and Y = 140 ; the correct regression of Y on
Xis given by :
(1) Y=50+3X (2) Y=110+0.6X
(B) Y=140+3X (4) Y=140-3X
38. Which one of the following is not a method of sampling ?
(1) Systematic sampling (2) Quota sampling
(3) Snowball sampling (4) Large sampling
39. Growth in software industry in India can be best explained by :
(1) Porter’s approach (2) Ricardo’s approach
(3) Vernon's approach (4) Bella Balassa’s approach
40. The form of multi commodity terms of trade is most closely related to :
(1) Laspeyre’s index number
(2) Paasche’s index number
(3) Edgworth - Marshall index number
(4) Fisher’s index number
41. If the foreign offer curve has an unitary elasticity, then the optimum tariff will be :
(1) unity (2) infinity (3) zero 4 -1
oans [ [ HIMIATIAE 1
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36.

37.

38.

39.

40.

41.

gfe A g0 Tl TieTs T U9 il 81 HIH i ATfehd] iHWBm%%,ﬁ%WWﬁaﬁw
F & oy feon S ®, @ 39 o1a &1 wifgenar s © for 99 g & Sem ?

1 7 1 2
3 2 175 G 7 @4 3

R - 1 Ffe 1 Freafafea § @ frm w9 & wRenfia fen mn 2
(1) TR JA-INewed Se Ig Terd B |

(2) ITHIHR YA-IRHTIT o IE T B |
(3) THHR JA-UREHTIT 59 Ig He 7 |
(4) THHR YA-URF 9 T8 TAd |

afe \fxy = 0.6, 0y =50, o =10, X =30 T Y = 140 ; T X WY 1 H&I gl FeAferraq 4 4
-9 B

(1) Y=50+3X 2) Y=110+0.6X

(3) Y=140+3X 4) Y=140-3X

frefafed # @ #9-1 e 1 ade 721 €2
(1) =afeq fage (2) e e
(3) wEta e 4) w&q Freem

IRA H WiTeeR UM # gfs & frefafed ¥ § fhae 510 9 €0 9 afvf fhen s 9shan @
(1) T 1 gfeai (2) TerrEt 1 gfehio

(3) M A1 gfeanr (4) ST dTEl A g

Tg-3UTE AR i ¥6l & w9 Fefafaa § 4 frad gaifis fee © -
(1) YRR 1 gahich (2) U T gARH
3) USEY - A Yk (4) TEIR =1 guaieh

Ffe focelt g o | U @ §, @ $5an T[eh o ¢
(1) TFE (TH) (2) o B = 4 -1
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42.

43.

44.

45.

An overvalued Indian rupee in the foreign exchange market will have which one of the
following consequence ?

(1) Make imports cheaper and exports costlier

2) Make imports costlier and exports cheaper

()
(3)  Give protection to domestic industry against foreign competition
(4)

Will improve balance of payments

Which of the following issues were not addressed in Urugvay Round ?
(1) Migration (2) IPRs (3) Services (4) Tariff

The terms of trade refer to :

(1) The excess of import expenditure over export earnings

(2) Trade agrument between two nations
(3) The ratio between export and import prices
(4) The terms and conditions on which a country is offered loan in the event of BOP

difficulties

‘Plan Holiday’ in Indian planning is identified with the period :
(1) 1966 - 69 (2) 1979 - 81 (3) 1985 -87 (4) 1991 - 93

Introductions : In the question number 46 to 50, two statements are labelled as Assertion (A)

and Reason (R). In the context of two statements, which one of the following is

correct :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A).
(3) (A)is true, (R) is false.
4) (R)is true, (A) is false.
46. Assertion (A) : Pareto optimality criterion cannot be used alone to measure welfare level of
the people.
Reason (R) : The concept Pareto optimality fails in case of externalities, public goods
and missing markets.
47. Assertion (A) : APC can never be zero while it can be greater than 1.
Reason (R) : Consumption expenditure is always positive even if income is zero.
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42.

43.

44.

45.

foceht ga1 fafa aeR # sifeifad TR €93 &1 ffated § 9 SE-91 999 26 ?
(1)  STTd 9% e, fafa Hem & s |

(2)  ATTa W grm, fata s & S |

(3) =] S i facult wfaeast | Heror fierm |

(4) T YA ¥ gER A

Fed frer g # freAfafad § @ SF-9 g8 1 9o T8 e w2
(1)  WeoH 2) difgew ST AfR
(3) Fa (4) TR

IR T vt 1 e Frefafed o 9 frew €2
(1) fraia sma 9 fraia == w5 sfae

2) < T F o AR FR

(3) frafd ok s wmal & == o1

)
(4) 9 I SR M 59 R FoRelt g A1 A e at wfoas i feafd § w01 fean s ©

AR FasH o 4 Aien sterenrer’’ forg srafu § @i e
(1) 1966 - 69 2) 1979 - 81 (3) 1985 - 87 (4) 1991 - 93

YT :  TTT WA 46 § 50 H AFURYA (A) 3R HWUT (R) & €9 § I w2 T T L1 A oAl &

46.

47.

e ¥ frAfafed § @ #FF-T W& ®
) (A) R (R) ST T E 71 (R), (A) FT T TEH €|
) (A) 3R (R) I T E T4 (R), (A) T TET TR0 T
3) (A)ERIE, (R) T4 B
)  (R) ¥ T, (A) T 2

JMURYT (A): TN F FHeA TR Hl WA % AT Fael W 1 STherdl Ul hl & ST Tl
o < Hehell B |

HIT (R) : T STIHEd! Hl Y, RIS, WasTah aeqy SR g ISR o JHel § Tha
&1 2 U |

AFRYT (A):  T\d IUHM Y F+ft oft 3 & 2 Tt 59 T a8 1 9 ifre &1 wahdt B
HTT (R) : YN T THIN AT &l © et & 3T 2 2 |
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48. Assertion (A) : The endogenous growth theory examines production function that shows
increasing returns.

Reason (R) : There is specialization and investment in knowledge capital.

49. Assertion (A) : On a bell shaped curve ; the value of mean, median and mode would be
identical.

Reason (R) : There is no skewness in such a curve.

50. Assertion (A) : Competition Act of 2002 came into force and MRTP Act was repealed.

Reason (R) : MRTP Act was too restrictive and curtailed fair competition in the market.

-00o0-
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48. AMURIT (A): iaeia Fafg fagma A werd &1 Tleron S § S fF Sed gu gfawes
TR |

T (R) : T Sl H faeroman R fere g 2 |

49. ATURIT (A): R T H WieA, WAt AR TgeTw W B |
HIUT (R) : 39 YhR & ok | fawwar et el |

50. AR (A): 2002 1 Fiaeqi Afafm gumet gen ofR ww.aR A, stfufm gfaeenfya gen
o |
T (R) : AR, rfuftag sty fafremes on ok 598 seR o aygfaa gfaegst §
HHT TR |

-00o0-
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Space For Rough Work
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